Ursula Frayne Catholic College



YEAR NINE 2024 24 B54 09 B

URSULA FRAYNE CATHOLIC COLLEGE

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "G6TY" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the Return date of Friday, 15th December 2023.

All home delivery orders placed on or before the 15th December 2023 will receive FREE home delivery. Any home delivery orders received past this date will incur a late fee of up to \$8.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 salesperth@campion.com.au

Please tick the items required in the box provided \downarrow

		\checkmark		
		Item Item Qty	Unit	Total
fice Use	Description	No. Reqd Reqd	Price \$	Amount \$

YEAR NINE

Offic

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

P09715 P02479	ENGLISH FUNDAMENTALS Boy Overboard (Currency Play) [Morris Gleitzman, Patricia Cornelius (Ad.)] Sadako and the Thousand Paper Cranes [Eleanor Coerr]	1 2		1 1	22.49 11.69	22.49 11.69
P16359	ENGLISH GENERAL Between Us [Clare Atkins]	3		1	22.49	22.49
	HEALTH & PHYSICAL EDUCATION					

Student will be provided with all required resources by their teacher.

HUMANITIES & SOCIAL SCIENCES

PARENTS PLEASE NOTE: If you are purchasing a second hand print copy of Oxford Big Ideas Humanities & Social Sciences 9, please visit www.oxforddigital.com.au and follow the prompts to gain access to the digital content.

 C04217
 Ursula Frayne CC Humanities Print & Digital Resource Year 9
 4
 DIGITAL ITEM
 1
 66.45

 This item is only available through Campion. It contains a physical book (Oxford Big Ideas WA Humanities & Social Sciences 9) and a digital resource for Humanities. The book will be included in your order and access to your digital resource including log in details will be provided to you during class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind

MATHEMATICS PATHWAY 1 & 2

C04218	Ursula Frayne CC Maths Print & Digital Resource Year 9	5	DIGITAL ITEM	1	69.30	69.30
	This item is only available through Campion. It contains a physical book (Ca resource for Mathematics Pathways 3. The book will be included in your ord details will be provided to you during class. Please choose carefully before cannot be returned, refunded or exchanged if you change your mind	der and acc	ess to your digita	al resou	rce includin	g log in
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	6		2	1.72	3.44
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	7		1	281.95	281.95
P50271	Pencil (HB) Goldfaber	8		3	0.52	1.56
P56353	Protractor 10 cm 180 4" Half Circle	9		1	0.36	0.36
P56414	Ruler 300mm Plastic Clear	10		1	0.60	0.60

MATHEMATICS PATHWAY 3

	Please Choose ONE of the Options Below	<u>Choose One</u>	
	Option 1: Print & Digital		
C04220	Ursula Frayne CC Maths CORE Print & Digital Resource Year 9	11 DIGITAL ITEM 1 69.30 69.30)
	This item is only available through Campion. It contains a physical book (resource for Maths. The book will be included in your order and access to provided to you during class. Please choose carefully before ordering this returned, refunded or exchanged if you change your mind	to your digital resource including log in details will be	
	- OR -		
	Option 2: Digital Only		
C04221	Ursula Frayne CC Maths CORE Digital Resource Year 9	12 DIGITAL ITEM 1 59.95 59.95	j.
	This item is only available through Campion. It contains a digital only reso 9). Access to your digital resource including log in details will be provided ordering this product as once purchased, this resource cannot be returne	d to you during class. Please choose carefully before	
	- OR -		
	Option 3: Reactivation Code		
ER20521	Digital Camb AC Essential Maths CORE 9 Reactivation Code	13 DIGITAL ITEM 1 24.95 24.95	i
	This item should only be purchased if you have a second hand copy of the CORE) and the code inside the front cover of this book has already been		

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount S			
	ordering this product as once purchased, even if you have not activate be returned, refunded or exchanged if you change your mind.	ed or used the	reactivation of	code, this dig	gital resou	rce cannot			
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	14		2	1.72	3.44			
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	15		1	41.95	41.95			
P50271	Pencil (HB) Goldfaber	16		3	0.52	1.56			
P56353	Protractor 10 cm 180 4" Half Circle	17		1	0.36	0.36			
P56414	Ruler 300mm Plastic Clear	18		1	0.60	0.60			
			_						
	RELIGIOUS EDUCATION								
	Come Follow Me CDROM (Collected from College - Paid in levy)	10	_	4	0.00	0.00			
P55494 P50451	Document Wallet FC Slimpick Green Exercise Book A4 96 Page 8mm with Margin Spirax #108	19 20		1	0.88 1.32	0.88 1.32			
-30431	Exercise Book A4 96 Page onin with Margin Spirax #106	20		I	1.32	1.32			
	SCIENCE								
	No textbook required for Science. College to charge \$60 levy for online Safety glasses to be purchased from College.	subscription ir	n lieu of textb	ook.					
P50140	Binder A4 2D Ring 25mm PE Insert Black	21		1	4.88	4.88			
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	22		1	41.95	41.95			
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	23		2	1.32	2.64			
P51591	Ruler 300mm x 40mm Plastic Clear	24		1	0.76	0.76			
	ELECTIVES Parents are to choose only the Elective subjects which their child has chosen to undertake in 2024.								
	ART		o unacitaixe						
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	25		1	7.64	7.64			
P58510	Eraser Plastic Pencil Large With Sleeve	26		1	0.32	0.32			
P51353	Glue Stick 40gm Artline Purple	27		1	2.20	2.20			
P52001	Pencil (2B) Goldfaber	28		2	0.52	1.04			
P51185	Pencils-Watercolour 12's Faber	29		1	7.00	7.00			
P56489	Sketch Pad A3 30 Leaf	30		1	6.80	6.80			
	CHILDREN, FAMILY AND THE COMMUNITY			·	0.00	0.00			
	No text book required. Please note this subject has a levy to cover the c CODING AND ROBOTICS	costs involved.							
	DANCE No text required.								
	DRAMA								
P55442	Display Book A4 20 Pocket Black Refillable	31		1	1.72	1.72			
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	32		1	1.32	1.32			
	FASHION AND DESIGN	52			1.02	1.02			
	No text book required. Please note this subject has a levy to cover the c FOOD SPECIALISATION	costs involved.							
	No text book required. Please note this subject has a levy to cover the c JAPANESE	costs involved.							
	Retain Obento Deluxe Workbook & CD 4E (Kusumoto) from Year 7 and Dictionary.	l Year 8 Japar	nese, and Ox	ford Beginne	er's Japane	ese			
P55442	Display Book A4 20 Pocket Black Refillable	33		2	1.72	3.44			
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	34		2	1.72	3.44			
P00210	Oxford Beginners Japanese Dictionary (Jap-Eng-Jap) [Oxford]	35		- 1	26.96	26.96			
P15540	Obento Deluxe - Workbook (Print & Digital) 5E [Kusumoto et al]	36		1	43.16	43.16			
	MATERIALS TECHNOLOGY WOOD			·					
	Clear safety glasses available from school. No text book required. Pleas MATERIALS TECHNOLOGY METAL	se note this su	bject has a le	evy to cover	the costs i	nvolved.			
	Clear safety glasses available from school. No text book required. Pleas								

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MEDIA					
	No text required.					
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	37		1	14.95	14.95
	MUSIC					
	No text required.					
P55449	Display Book A4 20 Pocket Red Refillable	38		1	1.72	1.72
	OUTDOOR EDUCATION					
	No requirements.					
	SPECIALIST SPORT					
	No requirements for this subject.					

Number of Boxes ticked:

Postage (Home delivery only)

\$0.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 08/11/23)

\$